8SSr

Z =38

N =50

adopted link

ENSDF link

Based on ENSDF from Oct 2022, and mass evaluation from 2020
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768.468 ( 0.000) MeV

Energy T
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.378

.523
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.990
.992
.020

.039
.170
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.224
.227
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.263
.269

.354
.368
.414
.441
.452

.515
.521
.556
.614

.632

(2+)
3+
(4)-

(0+)
(6)-

3+

(3-)
(6+,7-)

(3-)

(1,2+)
(3-,4,5-)

(3-)
(7-)
(2)+

(4)+

(6)-

(3-)

10

STABLE
0.154 PS
0.70 PS
1.5 PS
0.155 PS
22 PS
2.78 FS
46 FS
0.14 NS
0.76 PS

8

5
+8-4
10

3

24

+22-6

0.37 PS
30 FS
0.68 PS
10 PS
16 FS
367 FS
222 FS

+22-14

21 FS


http://www.nndc.bnl.gov/ensdf/getadopted.jsp?nuc=88Sr 
https://www.nndc.bnl.gov/ensdf/
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.7T70
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.199
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.640
.680

.687

.743

.801
.846

.915
.924
.931

.011
.077
.085
.092
.103
.113

.124
.127
.137

.169
.170

.24
.263
.276

.308

.322
.371

.393
.396
.416
.425
.428

.428

.473

"

(6-)

3-

(2,3,1)
2+,3+,4+

(3,44
(2)+
(4+)
<
(2+,3)

(1,2+)
(2)

(2+)
(3-)
(1-,2+)
1
(2,3
(2+)
(2+)
4+,5+
(3-)
(®

(4-,5)

(2-,3-,4-)

32 FS
0.18 PS

83 FS

28

12
+9-6

35

0.7 FS

LT



5.518

5.694

5.730

5.772

5.996

4+

2+

4+

o+

4+

5.812
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.486
.499
.517

.529
.637
.542

.583
.590
.601
.614
.655
.656
.678
.689
.691

.707
.711

.738

.801

.832
.836
.859

.866
.876
.925
.951
.990

.011
.011
.022

.034
.052
.054
.066
.075
.099
.101
.106
.125

1
(1,24)
(1,2,3)

2-,3-,4-
1)

(1-,2,34)
(1,24

(8)
(2+,3,4+)
(4)+
3+,4+

1

(1_’2;3+)

(1,2+)
(3-,4+)
4+,5+

1,2+4)

(4-)
(1,2+)

(2+)
(3-)

+

(2+)
(2)+

(3,4+)
(1,2+)
(1,2,3)

116
117

0.7 PS +30-4
0.7 PS GT

19 FS +19-15
29 FS 10
3.3 PS GT

45 FS 15

10 PS LT

12 FS LT

23 FS 6
0.29 PS 8

38 FS 9

67 FS 19

9 FS LT
0.2 PS GT

25 FS 11

32 FS 10

7 FS 5

1 PS GT

33 FS 9

0.9 PS +9-3
0.033 PS 9

23 FS

1.4 FS 1

41 FS +29-22
1.1 PS GT

44 FS 16

61 FS +91-45
17 FS 8

0.8 PS GT
0.2 PS LT



6.201

6.258

1+

3+

6.214

1-

()N e)Re ) INe ) I e) I )}

(0]

[o) e

[e) NN )R« > Ne )N e) NN )R e ) N e) o) BN o)) [o2 N>R )R]

[o) N>R e )Ne > Iie) I e )N e ) e ) NN o) I o))

[ o> NN e )R]

.127

.133
.140
.154
.168
.173
.188

.216
.234

.235
.241
.249

.270
.283
.293
.302

.351
.362
.367
.378
.382
.398
417
.431
.462
.471

.508
.519
.543
.561
.566
.575
.584
.592
.613
.618

.623
.627
.635
.640

1-)
(1,2,3)
(1,24)

4+ 5+
-)

<
(2-,34)

(2+)
3+,4+,5+

(2+)

(1,24)
+

+

+

(4+)
(2+)

(3,4,5)+
(1-,2,34)
1

2-,3-
+

(0-,1-,2-)

130 0.26 PS

137 3.5 FS 5

149 0.160 FS 10
150 1.4 FS 1

155 18 FS 5

168 5.2 FS 13



6.987

7.089

7.282

7.493

1_

1_
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.666
.672
.692
.710
.739
770

.783
.798
.807
.815
.832
.841
.855
.874
.897
.911

.917
.939
.962

.011
.023
.056
.061
.072

.103
.119
.129
.139
.169
.195
.208
.223
.265

.300
.331
.333
.360
.402
.427
.434
.460
.481

(3+,2+)
1
+

(4+)

(8

(3-,24)
+
3+,4+,5+

3+,4+,5+
2-,3-,4-
+

(10

(4+)

1

+
(3,4+,24)
+

-
€D

(10)

0.0025 PS 13
2.1 FS 4
0.81 FS 7
0.109 FS 7
2.9 FS 5
0.55 FS b
1.11 FS 16
2.5 FS 7



88SR 221 | | | 7.526 221

88SR 222 | | 7.534 1- | 222 0.32 FS 3
88SR 223 | | | 7.573 (3,4+,2+) 223

88SR 224 | | 7.591 1- | 224 0.91 FS 15
88SR 225 | | | 7.623 225

88SR 226 | | | 7.640 226

88SR 227 | | | 7.642 (10) 227

88SR 228 | | | 7.679 228

88SR 229 | | | 7.749 229

88SR 230 | | | 7.775 (11 230

88SR 231 | | 7.808 1- | 231 0.54 FS 8
88SR 232 | | 7.838 1- | 232 0.221 FS 22
88SR 233 | | | 7.877 - 233 0.65 FS 11
S-alpha= 7.907 ( 0.000) —====mmmmm e e e e e e e e e e e
88SR 234 | | | 7.909 (11 234

88SR 235 | | | 7.911 235

88SR 236 | |  7.964 1- | 236 0.31 FS 3
88SR 237 | | 7.988 1- | 237 0.52 FS 7
88SR 238 | | | 8.003 238

88SR 239 | |  8.041 1- | 239 0.138 FS 13
88SR 240 | | | 8.069 (0+,1+) 240

88SR 241 | | | 8.095 (12) 241 5.1 PS LT
88SR 242 | | 8.109 1- | 242 0.54 FS 9
88SR 243 | | | 8.142 243

88SR 244 | | | 8.171 (0+,1+) 244

88SR 245 | | 8.181 1- | 245 0.48 FS 6
88SR 246 | | 8.191 1- | 246 0.33 FS 4
88SR 247 | | 8.215 1- | 247 0.35 FS 4
88SR 248 | | | 8.228 248

88SR 249 | | 8.271 1- | 249 0.54 FS 9
88SR 250 | | | 8.276 (13) 250

88SR 251 | | | 8.302 (0+,1+) 251

88SR 252 | | 8.326 1- | 252 0.39 FS 6
88SR 253 | | | 8.336 (12) 253 2.4 PS LT
88SR 254 | | | 8.375 254

88SR 255 | | | 8.376 1 256 1.2 FS 4
88SR 256 | | |  8.407 1 256 0.75 FS 16
88SR 257 | | | 8.437 (12) 257 0.55 PS 21
88SR 258 | | 8.453 1- | 258 0.20 FS 3
88SR 259 | |  8.469 1- | 259 0.62 FS 12
88SR 260 | | | 8.501 1 260 0.35 FS 5
88SR 261 | | | 8.518 261

88SR 262 | | 8.519 1- | 262 0.67 FS 15
88SR 263 | | | 8.553 263 1.7 FS 5
88SR 264 | | | 8.561 264 0.83 FS 18
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©

714

.929

.044
.070
.078

.148
.191
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.341
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.497
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.5681
.589
.626
.669
.682

.736
.755
.765
.780
.792
.840
.851
.874

.936

.981
.019

.098
.116
.125

.214
.255

.385
.393
.402
.410
.432

.470
479

.528
.551
.568
577
.598
.616
.646

(13)

(1-)
1(-)

(14)



88SR 311 | | 9.704 1- | 311 0.23 FS 5
88SR 312 | I | 9.728 312 2.3 FS 10
88SR 313 | | | 9.738 1 313 0.72 FS 18
88SR 314 | | 9.746 1- | 314 0.18 FS 3
88SR 315 | I | 9.805 1 315 1.1 FS 3
88SR 316 | I 9.816 1- | 316 0.39FS 7
88SR 317 | | | 9.881 1(-) 317 0.26 FS 4
88SR 318 | | 9.944 1- | 318 0.46 FS 8
88SR 319 | | | 9.953 319 0.32 FS 5
88SR 320 | | | 9.966 1(-) 320 0.52 FS 9
88SR 321 | | | 9.978 (15) 321 0.17 PS  +10-3
S-p = 10.613 ( 0.000) == ——==— == m o oo
S-n = 11.113 ( 0.000)--- - - ST
S-2p = 19.234 ( 0.000)------ -—= -—= e
S-2n = 19.541 ( 0.000) ——— === === —mmm oo
S-alpha= 7.907 ( 0.000)--- - - ST — oo
S+p = -7.078 ( 0.000)

S+n = -6.359 ( 0.000)

S+2p = -15.429 ( 0.000)

S+2n = -14.172 ( 0.001)

S+alpha = -2.962 ( 0.000)

gap p 3.534 ( 0.000)

gap n = 4.754 ( 0.000)

gap 2p = 3.805 ( 0.000)

gap 2n = 5.369 ( 0.001)

gap alpha = 4.945 ( 0.000)



